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SEQUENCES AND SERIES WORKSHEET
NAME: _ Solutions

Use the formulas pr‘oVided to you to complete the following. Determine what type of sequence the
following are and then complete the problem.

1 a=-5, d=4, n=9; find the n™ term 2. a=5, n=4, r=3; find the n'" term
3. a=3, d=-4, n=6; find the n™ term 4 a=-4, n=z6, r=-2: find the n™ term
Find the missing?T rms in each sequence. You are given what type of sequence represents each one.
5. ‘;jﬁ A2 2, o , IR 54 (geometric)

2% Y43
6. 3,_5 ,__ 5 20 (arithmetic)

27 X

7 5, % ,_8 27 (arithmetic)

&> N
8. 32, % 72 108 162 (geometric

9. =6 10, =Y 2 € 14 (arithmetio)

10. Find the 15™ term for the arithmetic sequence -3, 3, 9, ..

%l

11, Find the first 4 terms of the geometric sequence with a=-6 and r= -2/3

“Q\qk-%}’% )lb/%

Find Sn for each series described. You will need to determine if the series is arithmetic or geometric.

12. 160+ 80+40+ .. ,n=6 13. az=h, r=-1/2, n=7 é)"{ﬁ _
EEE-3 oY
14, a=13, d=-6, n=21 15, d=-2/3,n=16, u,=44

-a%17 784

Find "a” for each geometric series.

16.  5,=-55,r=-2/3, n=5 17. 52457 [a=3072) r=-4
-2 3072
Find the first 3 terms of each arithmetic series.
18, a=14, u,=-85, 5,=-1207 19, n=16, u, =15, 5,=-120
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Mathematics Enhanced Scope and Sequence —Algebra Il

Infinite Geometric Sequences

On each bounce, Ball 1 reaches a height equal to 3/4 of the height of its previous bounce. On the
first bounce, it achieves a height of 25 feet.

Ball 2, which reaches a height of 18 feet on its first bounce, bounces 4/5 of the height of its
previous bounce on each bounce.

1. Fill in the table, showing the height of each ball for each bounce.

Ball 1 Ball 2
Bounce | | cight (ft.) | height (ft.)
1 A5 K]

2 12.75 | 14.4
3 |H. 063 | 11.52
4 \lo.547 (9. 6
5 7.9109. | 7.372%

6 €.93%32L | S.89%R
7 H q4Y9s [ 4.7186

2. Will Ball 2 ever bounce higher than Ball 1? If so, at which bounce?

1/@ < .l f

3. For how many bounces do both balls bounce above 10 feet?

>

4. When do the balls “stop” bouncing (i.e., achieve a height of less than 3 mches)
C) Al 1 -7

5. What minimum initial bounce height (to the nearest foot) would you have to ensure for each

ball in order to guarar]t
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6. Calculate t esumofallofthe bﬂounce heights forboth alls.-
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7. What is it about the fractions involved in this problem that makes the ball react in the manner
described?
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